AFiBEl
EBESEFEEA PACKING LIST

FBF: Sk TESE SRR 1#

1,FES8H:

I5: H202301690 EEERE 3000kg

EBHEEY | THJ 3000 / 1.0 - JXVF EHlAR: ER4N52 3000+ —1{A{K,
B/uk 1/9/9 HEA:

HARR | 2300x2500x2600 FIIRT: F5PUR1900 x 2320
2, fE55%:

F5 &R FEIH RS |[B8%FAK =iF
1 |FBERfE  |1=HiE, B8, HRBESEHHRTESEE A8

2 REB  |FRRE, MIKITR, FIUrE, SIPERRES B

3 |FEtRAE |BEAR, TR, (OB, %), UBEIE, e ]

4 |iIREE |BIIR, BIIIDE N =—IATE
5 |3E  (WBERFHERME, BueSINES, R N

6 |SIZEASHXEE, B, B, SHER, B A8

7 |5 |BRSIHLREM N

8 [IJHFE | WS JIRA N, 1822 A58

9 |IkAE  |BIEERN, 1B ]

10 |ENZE | EHNZE, SERTERE, Ak BIEEE

11 |%FRLER | ERRIBREM EElaES

12 | TR | TR EE e

13 SRt | RS, JIE EEIaES

14 |98 |WEZR, WERERK, FRRNT, #S BIEEE

15 |RER  |[FEEXR, 8IR, B, LR BREE

16 W2t |ENL24E, BB5|NLLLE A4

17 |J9ER  |[WER B

18 |sthriEsR| S, EZENELaEES

TESHE: 19 1+

IR BRI

Hi: Bexd : Hig: eE: it
SEIERHLE B
EIEEEI: B

R MEAERENERENVER . Bk, FRFIERN, MEBREZEE=AT



MR R B’

I

RS H202301690 JE/% /17 1/ 9 /9
] THJ 3000 / 1.0 - JXVF BN R~ 2300 X 2500 X 2600
LIk 2 KT S S5 A AR 18 FIIHFRERS FPURE . 1900X 2320
W75 FRiR £ i 5/ 85 Z H R/ L % I
L] H AR LRCRALE il mgaztm;zfzii:&mmw% ! T RAEAE. Al
2 | A SRS DR I R B 1 140 X 60 4 in I R
3 | H HIEC R Ff 140 X 60 4 1 THAE LI
1 | B UAYHG pne] 164, % 130, A55%H 4 A I R
51 H SR PR 150X 325, t=16 2 B SRR PP
6 | H LR o e 350 X 314 2 A LLE F R
(O I E BRI TR e 440X 314 2 S T AELE
8 | H ST ks, I $ 400-8-10-16 2 o LR R
91 A By 1t 248 #4 4 e 1=325 ! % B E
10| H PR SLAEALE KJE: 13600 B BAHRT K600, RFFHY% | 2 % | BABEIFHHE
11| H SEAE R IR (RG Bt @16 kT 4 fF JEPEAESTIAE
12| H B A IR . FRRA 95 2364] X 2532 1 =
H HMEE s 1182 1 e
13| A ST 63X 63X 63 @16 HifF 4 A E il
14| H SR TR s PFEL1038 7 1L=2514 1 = HEN
B 15| H Zi b 200X 290, t=16 2 e PR TR
hn oA aE e —
R Z T LA 2‘*“?"1?;;1?;\;;1 20, £ L #537
7] H SRS Bt 130 X 50 X 50 4 fF | BT i
18] H B REK PRt i 4 A AR
9| A SR ARHRAT @ 1618 FF L=2250 4 % AL 3B
20 | B ek LR IR brHELE L= 400 2 & BRI
21| A HRBRFT R ERRpRIER 1.=3000, FL#HE2000 1 %
22 | H 53R FrifEf: 295X 90 X 55 2 1
23| H T2 RN A ARG 1 £
24 | H FIHUEEE BBt 930 2 % | 2504, MRREI(E
26 | 4 SRS LT90/B, % HFL75X75 H103 536 5L 4 A
o7 4h it S AR J7 REAMR Hits 2 o /N HR
s SRR AR J7 AR it 2 o
o8 | 4 S dlt QJlO?jﬁﬁi&ﬁfx%%’a‘ | SRR : 5100K6 . L T
) (Sl Bk In/s |, BUM: 16 mm 124
29 | 4b AR Aok dh, BihAFK: 2289 1 i BificfE ER
30 | 4k - RUKSHF K 3 48 1 fF Bl ER L
BRREREL: 1. 5mm304 & S
31| A JE A BERR =432, H=2600 2 Js L. w304 KA
32| H Ja P EERR =500, H=2600 3 1 1. 5un304 RECRH
#133] A MIRT . JERERR i =455, H=2600 4 fE
BE |34 B ) EER AR A7 L L=500, H=2600 6 1 L. Sm301 REACRHE4R
35| H HIEEAR 1=82, H=2320 1 1 1. 5mB04 KECR B
36| H BRYEER 1=382, 1=2320 1 1 . 530 RAA G
3| H BRI FUNEHEER) 1.=2364, H=280 1 e 1. 50t RECR4E
[ TR 2% 940 1 14 1. 5nm304 KA
138 H HIER TR 487 X 2364 1 1
39| @ THER TR 500 X 2364 2 i THT AL
i 40| B AR TIAR AR 500 X 2364 1 fE | FF380BRRURAL, 4TAL
141 H Je iR TR 487 X 2364 1 Jis
147 B IR 1. 5mm304 K SR 1=505 H=2345 4 NN IR
155| H Z1TIR 1. 5mm304 R UM L=510 H=2335 36 | RIS BIRE
H HRGE 1. 28R 1.=2285 18 1 SRR
156 | H [TERE 1. 5mm304 K AN B=50 L=2020 9 %
H RESRA 1. 5mm304 K BRI B=50 H=2340 18 e
RESUY-S 1. 5mm304 R SUREN 940 9 G5
158| B PN A ikl 22 1 TR
H JEMS T THLZHER PRt 40%60 0 fF
149 | 4b IZEE GHEDEFEILTAG1-A 917A61-AC220 1 %=
38| H ERC AT L70X 70X 6 L=250 30 IS
39| H EX AR L70X 70X 6 1=200 30 1
o |40 | B | BRSO RIPUSC L70X70X6 L=860 60 iin AT
;h 41 | A A SRR B P L70X 70X 6 1=150 60 fF
42 | H RIS L70X 70X 6 L=1890 30 £ | #LEE107, fRAE600
45 | H RHE L50X 5 L=500 0 f:
46 | H FHE RS L50X 5 L=100 0 63




M B X

B E &

Sy 2= H202301690 /% /17 11/ 9 /9
Vil LEi k=2 THJ 3000 / 1.0 — JXVF BiR N R~ 2300 X 2500 X 2600
B4R 113k 717 35 25 Fk IR A 1 FIIFRER T MU - 1900 X 2320
A | 5 | AR % s E5/ 85 Z o O &1 R A % Ik
o 5K/%, [HE: 18 % .
43 | 4k RS T90/B YT Fa— 96 PN
44 | 4 5 T S 175/B 21;3’; gg ;85 96 *
45 | 4k T FHUEBER T90/B 18 f:
46 | 4k Bl S HUEREIR T75/B 18 1
47 | 4 T FHUEY T90/B 136 R
5 | 48 [ 4b IR E] T75/B 146 H
Bl 49 | 4 IR T90/B 30 R PRA R0 2
50 | 4b S bk K:L=1100 2 1 FLIE96x96
51 | 4b SR K10.3 fLEE: 110 4 fF FLEE110
53 | 4k SR T90/B €= 0.5mm, l.2mm 104 Js JE %
54 | 4k SRR T75/B §=0.5mm, 1.2mm 104 4 JEL %2
55 | 4+ ISP & AR 4 A
56 | H of B4 P 1 1590 X 4100 1 £ B H g
58 | 4h X} H S e, M ®400-8-10-16 2 A
59 | 4h URLRY 1651, #5125 4 £ | FCRUREE, fEE
60 | 4k X R BER 760X 300 X 80 66 4| k130, 52kg/ . AN
" 61 | 4b X S 13K Bkt B=17 4 A I H
® 63| H X} B R BRAE A P 200%50 3 1 SERCTEXS A
64 | H P EA s 350 X 340 2 A B A o) B 2
66 | H Mo EE IR 1750 X 1220 2 1 W
67 | A ot A3 AR L X 1220 0 fF M B £
68 | H X R L= 600 8 2%
69 | B BRI 6435, L=3000 0 %
70 | 4 iR e HYF80 2 A
| 71 | 4b N 1EHE HYF70 1 A
72| H JRIUEH: b & i H=1500 1 BT
- WOEHEE : 1 /s
g 73| 4b PR % XSG607—BEf[] 2 7 % 1% . ©8 mm 1 =S S
Bk S B R . AN
4] H FRREAR TREb bR A L=300 H=60 9 I3 TR
|75 H FRREAR S bR LR L= 345 9 %
E5 6| A PRI R % H:1900 2 %
7 H PRz 48 FLEE110 L= 375 4 % ks A
8| A PR L Fi 1] 871 D28, 226 R4, R B AT | 1 7 |1.=630
9] A x4 Sk A4 B P 87 @28, 22814 1 4 [L=350
80 | H R R 28 S R L=650, 164 54N 0 %
?f 81 | 4b AN 819S+NF-10 BHit: ©10 1648 B 206K X 8%
% 82 | 4b PR A AN 22 4 8+19s+PP-8 EHf: @8 98 kK
83 | 4t Lk D8 6 i
84 | 4 DNy D10 FIh: 487 | 16 £
81| A BRI A I 1] 1=250 0 £ 2
85 | 4t FR 1ERE 1 ES
A : 3000kg  FiE: 1m/s
_ - ' Btk 4:1  Ih#%:20. 8kw N
;,El 86 | 4h [F]25 5,51 B WYT-TE2. OE TSI, oy 1 & | WBWYT-TE2. OF
Wl A D400-8-10-16
87 | A EHLZE Bt b5 YWY T-TE2. OF WEME: A 1 A |sy=722
88 | 4k N Ji 22 R 2417 4 £




i S

tr iE B

EF=RT 1202301690 JB/35/1] 1m /9 /9
s THJ 3000 / 1.0 - JXVF Wil R~ 2300 X 2500 X 2600
EFEK Sk T 3655 AR A 1 FIIHFRERF UG 1900 %2320
A7 | FRiR E4 b 5/ #E ! B O &0 A AL & IF
89 | A FRE K. 3.7k 28%b T 74 2 % T
90 | A K R KR 2.2% 18#b AN 2 % T
91 2 shp L R | tosm gj
92| A IR 5 2 3 P O8N AL 240 1 2% | 1084844, L=800
B | wwise Reem /@ R s s 500%314 3 A
§ B | Rk e 1325 8 T
Bl H o} R 4 ek, B ®400-8-10-16 1 %=
93 | A R SRR A B 620X 1150 1 =
H HRIR4 R ek, B ®400-8-10-16 2 A
94 | H EHLF 5 RS, B ®400-8-10-16 1 1
H MZEE1 [ 1] L=470 1 # 1. 2mmiEEER
M HZE=2 I L=360 1 # [2.0mmiEseER
95 | 4 | Smik. R4FUIE 1658, &% 130, fit55%h 8 B | mXUEE, i
96 [ 4b AR S iR RN 73000+ — A4k, 1 = 22 kw
97 | 4k BEATRLZE . R g 47.5 K 1 = CLRLEE T
98 | 4k e HUB TR 4 A
99 | 4b SRS 0 S L IR R A R 1 £
oo 4t TN FRYFFRHME . 1150 X 155 bedE 11 /9 /9 1 =
ﬂ;ﬁ 101 | 48 | FEmishEa CREEDD R AT 1 N
z 102 | 4b kAT R IR ESIT 7 A
g |103] 4 T AT & HIE &M 1 A
104 | 4b YRS AR 1 A
105 | 4h JERYL A TR R A W4T 220V / 40W 2 A
106 | 4h MEE 2 A
107 | b g e s e 2 A ik dii
108 | 4b L2 [ 2% L= 1000 /% 10 %
109 | 4k HL5 LR AR AR IE: 22 kw 1 A 100A
110 | 4b FIRAR AT BT 220V / 60W 1 A
11| 4 JEELT AC220V 60Wa 4B 8 A
NP &b | RUKSTT % 1 A
ii 113 | 4k U SIPS 1X29-7/3 0 A
o |14 4 kAT $ 80FT 8 =)
115| 4h FF IR AC220V#£ %DC12V 0 A LEDX] FH
116 | 4b FRALIF X (1370) 4 A
117 4b H 7 1 £
118 | 4b R XU [ ¥ HD/BRB 1 it
119 4h - [0 B 8 25 4 S 2k BVARFRETE : 16 mm? 50 K
120 | 4k =P EL 3X0.75 mm? 20 *
121 b 2. 5mm’ # 4R H 2R 20 K
122 4h 10mm2 ¥ £ 28 20 S
123 4b P % AL G 8 B ik 2k 48 K
124 | 4b R 80X 60X 1.2 5 %
125 b R REERAR 10 1
4h I e 5K/ % 2 %
Ah [1] 72 £ 05 90 A
; 126 | 4F SRRE KA, 030 8 IR LB
o 127 4 RHE KW, ©10 9 x I8
;4: 128 4t Bk ©30 mm 4 A
129 | b R Rk ®10 mm 18 A
130 | 4h RV D13, B 6 ES JEIELA
131 4h YRS Sk D13, 90° 10 A
4h el 1 A s e
132 | 4b Je el 200mm 200 %
133 | 4b [FiQiia D6 mn 283 jA
134 | b AL LA 3 %
135 | 4b BRI ) 43 A
136 | 4h ELNCON) UT10-6 20 A
137 4h KH (N SV1.25-3.2 40 A

B3I 5

A\

b=l



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



A 3

O A

KRS H202301690 J2/3/1] 11/ 9 / 9
P THJ 3000 / 1.0 - JXVF RN RS 2300 X 2500 X 2600
EPEIK 1k 7T S35 B A 1 FIIAFRERF DU . 1900X2320
AR 7T PR E4 s K/ R Z B GFE &5 ik AL %
FEITRS: 1900X 2320 ‘
12| 4 FEITHL FEFO. 02 S UL e ik, |1 & @: 1], Bl
us \ R
L7 F1J) hrdEsE
1 [144] A AR S PP 2000 X 800 1 s
146 | H BRI AR S LR RG K. 1=490 4 %
148 H BT HIRIT SR S K. 1L=3640 1 % AmmAR A4 37
"1 S, PR T8
150 | 4h Z173k FEFL. 02 ATIEE:  1900x2320 9 7:%@5 22}; Q{E
43 DU 11
2 [162] H M ATIR ¥ I K. 1=2940 9 £
7163 H 2113 R I 1] 2000 X 400 9 a5
64| H FEE IR FAR 5 S K5
165| H FJEET IR AW 25 FHN 15 K
168 K TR AR PR K:500 63 A
169 | 4b S WLD 5 kg
170 | 4b FATIK 2 kg
171 4b TR A 1 kg
- 172 | 4b YR 6 kg
ﬁé# 173 | 4h BRI 1 £
174 H [1EH W PR ®8 mm, L=1000 9 %
175 | 4b BEE] HE 4 it
176 | b N IRV 1K D 44022 48 2 %
I D430k 12 1
179 | b HMELE QL (JWB) 300 46 K 1 %*
180 | 4h AMERE G R E B4R, L=1860 1 f:
181 | 4h [FMEEE SRS E R L=510 2 f S i
el 182 4h LK O8R4 4 %
183 A | o e N D83k 12 H
TR KM RE 23 T T R pope . n
185 | 4h UBIEE (M12, FLER72) 4 £ FIgR
o400 5T
b fE R B W %
S 1202301690 BE/%/17 11 / 9 / 9
R THJ 3000 / 1.0 - JXVF FRENRS 2300 X 2500 X 2600
Ik 0 FIARE R~ HAMUE . 1900X 2320
S Es &P 4 Ee /R Zz B oo &1 FikS S & IF
1| BRERS SR 12k M18X 60 AoFa, s, R B8R | 30 £ 8.8 A
RS R R R 12 M20 X 110 B, BB R, UBRE] 0 = 8.8 ZuAfh
35 R R TR MR BERE M16 X110 Bl T dis . R, XUREE] 0 £ 8.8 YA th
2 |SHiRE R 12k M16 X 40 BooP . AR, sk BB 8 £
3 |G FRUR ., A 12k M16X 70 [N T S S 3 16 = 8.8 Al
4 | ERERSE. THTiHE 12 M8 X 25 BiopHy, ek, WERE 16 £
5 | FHESEE RIRAT R 12k M12X 40 AOFa, sfsk, Bk} 2 £
6 |BFIA 12k M8 X80 BooP . AR sk BB 8 £
7| B e B2k M12X 90 AOFa, sfsk, Bk} 4 =
8 | IIHLAE 3 405 47 Ji v Ak 124 M12X45 BiopH, sk, WERE 20 =
9 (M AR S NIHLE X3 12k M12X 45 [ N e N 2 £
10 [ITIHL S e R 12 M12X 45 Biop, sk, W2R} 2 £
21 IHLS TR SO B2k M12X 45 i Pk, maEs . dERE 4 =
12 | [TIHLT S 5 TR S 48 1B M12X 45 BiopHy, sk, WERE 4 £
13 | PR S 12k M18X 60 Ao Fa, s, R BR[| 24 £ 8.8 A
14 | FHER YR 12 M12X 45 B P . s gk BERE 12 =
15 | FREGEY 224t 12k M16 X 60 FC T, Al gpsk, BRE 8 £
16 | SIAE S RATHE . AT B2 M12X 40 BloPH . RIEA . R igRE 12 E
L7 | FikF 5 HiAt pE IZREM20 B2 X P, s, 3XUBRE [ 4 £
18 |FiAT S5HiATH: 124 M20 X 90 Biop, sk, W2R} 4 £
19 |RELiER IZEE M18X 40 Ao T, GRlEs . Bk, BRE 20 £
20 A5 HhIRAEAN 124 M16X40 BooP . RlER . sk BB 8 £
21 |5 T IS IR R 12 M8 X 40 BT, Al gpsk, iR 5 £
22 |5 5. IR e 12 M12 X 40 BiopH, sk, W2R} 2 £
23 |BERR 5 R AL 12 M8 X 30 Ao P, spdl ., BRE 56 =
B | 24 |BENRGES: 12 M6 X 20 A T3, pidk . d2RE 160 =
Be | 25 |RURENRS EEG B2 M8 X 20 BPH ., #agh . 12H} 6 %=
26 | BERR 5 THAR 12 M8 X 30 BiopH, ek, W2R) 56 £
27 [FEMS i OKRE JEZAKEZ RS M12 X120 EAE A | B WREE | 346 % TaEE
28 [FEADEE (kG TEREIREE M12X280 | SriAtdh. SPAE . R | 18 53
e 29 |HRER: 12k M12X 45 il Sk, maEh . gERE 140 1=
;ﬂ 30 [FHUE 124 M12X 45 Bi-Pae, sl WRBL 130 £ 13K
¥ 31 |E RS 12k M12X 45 AOFa, sk, Bk} 130 £ T5K
32 | FHUERAMR 124 M12X 45 Br-Pae, #pdh | WREL 154 £



Skyfree
Skyfree:
114轨用M16X55


H AT L5 W
R A - - I
Y 1202301690 B/3/1] 11/ 9 /9
P e THJ 3000 / 1.0 - JXVF iR R~ 2300 X 2500 X 2600
P2 0 FIIARENR DB - 1900X2320
Elad laes B A E5 /A Z K BE O £1% fie i % F
33 | EIHLEBER 12k M12X 45 Br-pie, #psh . WRR) 154 £
34 [XtEQS 5 12k M8 X 25 Ao Pk, spdl, BRE 4 E
35 |XWEHERE 12k M8 X 25 FTak, spdh, BR) 4 =
x| 36 |4 HE Ak E E IEAR M10 X 40 Pl SFa . sk, dERE 4 £ B 2 Lo LR A
B | 37 [MERENESH 1R M10 X 30 Br-pie, #pdh . WRR) 16 £
38 | E G 5 AR 24 M10X 25 APk, spdl, iBRE 2 E
39 W EPIR S PR 12k M10X 25 Fr-piy, #pdh . dER) 24 =
JRYL| 40 |ZrhaR Ry JEZAKEZEE M12 X120 L N5 12 =
AEE | 41 |PRIEAS 5 PR H AR 12 M8 X 25 Bk, #pe . B} 4 £
PR 42 | B 2% A i 52 K24 M10 X 80 A IR sk, g 0 53 WimA s
43 | W R e 2 40 4% B S e 12 M10X 25 B Pk, #ps . i8R} 12 1=
e 44 tgﬁﬂ&i%%%%&ﬁ% 12k M12X 45 P4 5‘*‘1@\ 2 R 12 = T13K
45 | Bt S S 4R 12 M6 X 20 FUIE TR B BR 9 %=
46 | BRI AR S SRR I2EE M12X 45 A Pk, spdl, iBRE 18 = T13K
LR EYACELIEEN RS M24 X 130 PP, Bl REA. XURERE [ 4 = 8.8 %
3l [L48 [HbL S MLy ik M8 X 25 P, gk iRt 1 =
Bl | 49 |HBIHLFHERE e K242 M12 X100 AP SR, IBRE | 12 k3 Wima s
51 |4 [ a2 IZAK B2 M10 X 80 ORI sk, e 4 * A 5%
52 [JFiE s giE e JKUEET 4X40 210 Ea
53 [JerIF LR e B2 M6 X 30 TR TN N 55 4 £
*;Z‘é 54 | i A s B2k M8 25 WP, i | 4 &
| 55 bR IS e N2 M8 X 80 ALE T8 g iR 4 Ea WA 5%
56 | 2dEERE N2 M8 X 80 ALE P58 g R 2 Ea WA 5%
57 | HLZiZRI JEZAKEZEE M12 X100 A gl 2R 8 53
58 L H A e JEZ K24 M8 X 80 A5 IRE  spdk . BBt 4 Ea A 4%
59 MBI AETE E JKIBET 4X40 153 b3
60 | FFEUKSTF I & 7] Sk A M5 X 40 AIETHE L ., IBEE 4 =
B8 | 61 |fulbr I O [ Sk Ig4E M5 X 40 ALETHE . Rk, iR 0 ES
Foft) 62 |fr B E RSB E JEZ IR M8 X 80 AL THE L R, iR 0 Ea WE A 4
63 | M55 LR K84 M6 X 50 LGP Bd, B | 25 Ea WE A 4
64 |BL5 Lt bE B2 M6 X 25 40 %=
65 | LA a5 [t 222 MAX 10 60 %
66 |HRIIHS 2 axfilii WZAE M10X 25 il P, A 0 %=
67 [ITHLE 51T B2 M10X 30 BOFH ., Bk W2E} 2 %=
1| 68 BRI RS SR B2 M8 X 25 B P, Bpds . BRE 2 £
69 |1 511 WA M10X 25 | T 2 1=
70 [FHIIR SR B2 M8 X 25 BiPH, ek, W2R) 12 £
71 [1EEE JIEZ K BZAEMS X 100 AP sk, R | 54 £
72 |BITViHS 23k B2 M10X 30 FEPIE . B, R 0 1=
73 | EARAE R B2 M6 X 30 ALFETH | 82 £
FEIT| 74 118w 12k M8 X 35 i T, gk 18 £
75 | HUIKFCAE 2%k 124 M8 X 25 ALE T Bk 73 S
e EIBURLL M5.5X 19 0 %=
e PLFIZFEME X 100 10 =
79 [Pk s iR e 2[5 S BB 22 M6 X 25 A5 . IER) 22 S
81 | E 119 IR 5 i3k F L 28 e 4 VSKIEKE M6 X 15 ALE T B 58 £
EEERRA R IR 2K M5 X 50 FAG P k. e | 22 =
vaFiE AR A A %5 5 5 45 5




